

On certain q-series identities

Satya Prakash Singh, Vijay Yadav and Priyanka Singh,
 Department of Mathematics,
 T.D.P.G. College, Jaunpur-222002 (U.P.) India

(Received November 10, 2012)

Abstract: In this paper, an attempt has been made to establish certain q-series identities which are different from Rogers-Ramanujan type identities.

Keywords and Phrases: Identity, Rogers-Ramanujan type identity, Rogers-Fine identity, transformation formula.

AMS subject classification code: Primary 11D65, Secondary 05A10, 11A81, 05A17.

1. Introductions Notations and Definitions:

Throughout this note, we shall adopt following definitions and notations. The q-shifted factorial is defined by,

$$[a; q]_0 = 1, \quad [a; q]_n = (1 - a)(1 - aq) \dots (1 - aq^{n-1}), \quad n = 1, 2, 3, \dots$$

and

$$[a; q]_\infty = \prod_{k=0}^{\infty} (1 - aq^k).$$

For products of q-shifted factorials, we use the short notation,

$$[a_1, a_2, a_3, \dots, a_r; q]_n = [a_1; q]_n [a_2; q]_n \dots [a_r; q]_n,$$

where n is an integer or infinity. Basic hypergeometric series is defined by,

$${}_r\Phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r; q; z \end{matrix} \right] = \sum_{n=0}^{\infty} \frac{[a_1, a_2, \dots, a_r; q]_n z^n q^{\lambda n(n-1)/2}}{[q, b_1, b_2, \dots, b_s; q]_n},$$

which is convergent in the whole complex plane if $\lambda \neq 0$ and for $\lambda = 0$, it converges for $\max. (|q|, |z|) < 1$, provided $r = s + 1$.

Rogers and Ramanujan [6] published a paper containing following identities,

$$\sum_{n=0}^{\infty} \frac{q^{n^2}}{[q; q]_n} = \frac{1}{[q; q^5]_{\infty} [q^4; q^5]_{\infty}} \quad (1.1)$$

and

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[q; q]_n} = \frac{1}{[q^2; q^5]_{\infty} [q^3; q^5]_{\infty}} \quad (1.2)$$

After the publication of this paper, many mathematicians notably, Bailey [2], Slater [7], Verma, A. [9], Denis [3], Singh, V.N. [8] attempted and also succeeded in establishing Rogers-Ramanujan type identities. There are two types of identities available in the literature.

(i) Rogers-Ramanujan type identities

(ii) Identities different from Rogers-Ramanujan type.

An identity in which a series is expressed in the form of product like (1.1) and (1.2) is called Rogers-Ramanujan type identity. On the other hand if a series is represented by an equivalent another series then it is called an identity different from Rogers-Ramanujan type. The main aim of this paper is to establish identities of second kind.

2. Main Results

In the 'lost' notebook of Ramanujan [5], he has mentioned following beautiful theorems.

Theorem 1. If $a, b \neq -q^{-n}$, then

$$\rho(a, b) - \rho(b, a) = \left(\frac{1}{b} - \frac{1}{a} \right) \frac{[q, aq/b, bq/a; q]_{\infty}}{[-aq, -bq; q]_{\infty}},$$

where

$$\rho(a, b) = \left(1 + \frac{1}{b} \right) \sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2} (a/b)^n}{[-aq; q]_n}. \quad (2.1)$$

Let us consider the Rogers-Fine identity, viz.,

$$\sum_{n=0}^{\infty} \frac{[\alpha; q]_n z^n}{[\beta; q]_n} = \sum_{n=0}^{\infty} \frac{[\alpha, \alpha zq/\beta; q]_n (\beta z)^n (1 - \alpha z q^{2n}) q^{n(n-1)}}{[\beta; q]_n [z; q]_{n+1}} \quad (2.2)$$

Replacing z by z/α and then taking $\alpha \rightarrow \infty$ in (2.2) we have

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n-1)/2} z^n}{[\beta; q]_n} = \sum_{n=0}^{\infty} \frac{(-)^n q^{3n(n-1)/2} [zq/\beta; q]_n (\beta z)^n (1 - z q^{2n})}{[\beta; q]_n} \quad (2.3)$$

Again, taking $\beta = -aq$ and $z = aq/b$ in (2.3) we find

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2} (a/b)^n}{[-aq; q]_n} = \sum_{n=0}^{\infty} \frac{[-q/b; q]_n (a^2/b)^n (1 - aq^{2n+1}/b) q^{n(3n+1)/2}}{[-aq; q]_n}$$

So,

$$\begin{aligned} \rho(a, b) &= \left(1 + \frac{1}{b}\right) \sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2} (a/b)^n}{[-aq; q]_n} \\ &= \left(1 + \frac{1}{b}\right) \sum_{n=0}^{\infty} \frac{[-q/b; q]_n (a^2/b)^n (1 - aq^{2n+1}/b) q^{n(3n+1)/2}}{[-aq; q]_n} \end{aligned} \quad (2.4)$$

From (2.4) we find a general identity,

$$\sum_{n=0}^{\infty} \frac{(-)^n (a/b)^n q^{n(n+1)/2}}{[-aq; q]_n} = \sum_{n=0}^{\infty} \frac{[-q/b; q]_n (1 - aq^{2n+1}/b) (a^2/b)^n q^{n(3n+1)/2}}{[-aq; q]_n} \quad (2.5)$$

(i) Taking $a=b=1$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2}}{[-q; q]_n} = \sum_{n=0}^{\infty} (1 - q^{2n+1}) q^{n(3n+1)/2} = 1 - \sum_{n=1}^{\infty} q^{n(3n-1)/2} (1 - q^n) \quad (2.6)$$

(ii) Taking $a=b=-1$ in (2.5) we get,

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2}}{[q; q]_n} &= \sum_{n=0}^{\infty} (1 - q^{2n+1}) (-)^n q^{n(3n+1)/2} \\ &= \sum_{n=-\infty}^{\infty} (-)^n q^{n(3n+1)/2} = [q; q]_{\infty} \end{aligned}$$

Thus we find,

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2}}{[q; q]_n} = [q; q]_{\infty}. \quad (2.7)$$

(iii) Taking $a=-b=1$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{[-q; q]_n} = \sum_{n=0}^{\infty} \frac{[q; q]_n (1 + q^{2n+1}) (-)^n q^{n(3n+1)/2}}{[-q; q]_n}$$

(iv) Taking $-a=b=1$ in (2.5) we have,

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{[q; q]_n} = \sum_{n=0}^{\infty} \frac{[-q; q]_n (1 + q^{2n+1}) q^{n(3n+1)/2}}{[q; q]_n} \quad (2.8)$$

(v) Taking $a=1, b=q$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n-1)/2}}{[-q; q]_n} = 2 \sum_{n=1}^{\infty} \frac{(1 - q^n) q^{n(3n-1)/2}}{[-q; q]_n} \quad (2.9)$$

(vi) Taking $a=-1, b=q$ in (2.5) we have,

$$\sum_{n=0}^{\infty} \frac{q^{n(n-1)/2}}{[q; q]_n} = \sum_{n=0}^{\infty} \frac{[-1; q]_n (1 + q^{2n}) q^{n(3n-1)/2}}{[q; q]_n} \quad (2.10)$$

(vii) $a = 1/q$ and $b=1$ in (2.5) we find,

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n-1)/2}}{[-1; q]_n} = \frac{1}{2} \sum_{n=0}^{\infty} (1 + q^n) (1 - q^{2n}) q^{3n(n-1)/2}$$

(viii) $a=1/q$ and $b=-1$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{q^{n(n-1)/2}}{[-1; q]_n} = \sum_{n=0}^{\infty} \frac{[q; q]_n (1 - q^{2n}) (-)^n q^{3n(n-1)/2}}{[-1; q]_n} \quad (2.11)$$

(ix) Taking $a=1/q$ and $b=q$ in (2.5) we have

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n-3)/2}}{[-1; q]_n} = \sum_{n=0}^{\infty} (1 - q^{2n-1}) q^{n(3n-5)/2}. \quad (2.12)$$

(x) Taking $a = 1/q$ and $b=-q$ in (2.5) we have,

$$\sum_{n=0}^{\infty} \frac{q^{n(n-3)/2}}{[-1; q]_n} = 1. \quad (2.13)$$

(xi) Taking $a = \omega$ and $b = \omega^2$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{(-)^n \omega^{2n} q^{n(n+1)/2}}{[-\omega q; q]_n} = \sum_{n=0}^{\infty} (1 - \omega^2 q^{2n+1}) q^{n(3n+1)/2} \quad (2.14)$$

(xii) Taking $a = \omega^2$ and $b = \omega$ in (2.5) we get,

$$\sum_{n=0}^{\infty} \frac{(-)^n \omega^n q^{n(n+1)/2}}{[-\omega^2 q; q]_n} = \sum_{n=0}^{\infty} (1 - \omega q^{2n+1}) q^{n(3n+1)/2} \quad (2.15)$$

(xiii) Taking $a = i$ and $b = -i$ in (2.5) we have

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{[-iq; q]_n} = \sum_{n=0}^{\infty} (1 + q^{2n+1}) q^{n(3n+1)/2} (-)^{3n/2}. \quad (2.16)$$

(xiv) Taking $a = i$ and $b = i$ in (2.5) we have

$$\sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2}}{[-iq; q]_n} = \sum_{n=0}^{\infty} \frac{[iq; q]_n (1 - q^{2n+1}) q^{n(3n+1)/2} (-)^{n/2}}{[-iq; q]_n}. \quad (2.17)$$

(xv) Taking $a = -i$, $b = i$ gives

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{[iq; q]_n} = \sum_{n=0}^{\infty} (1 + q^{2n+1}) (-)^{n/2} q^{n(3n+1)/2} \quad (2.18)$$

Let us consider the following result,

$$\begin{aligned} & \frac{(1-\alpha)x}{(1-\gamma)} \sum_{n=0}^{\infty} \frac{(\alpha q; q)_n (-)^n x^n}{[\gamma q; q]_n} \\ &= \frac{(1-\alpha)x}{(1-\gamma)+} \frac{x(1-\alpha q)}{1+} \frac{(1-q)(\gamma + \alpha x q)}{(1-\gamma)+} \\ & \quad \frac{xq(1-\alpha q^2)}{1+} \frac{(1-q^2)(\gamma + \alpha x q^2)}{(1-\gamma) + \dots} \end{aligned}$$

[Agarwal 1;(4.3) p.84]

Taking x/α for x and then $\alpha \rightarrow \infty$ gives

$$\begin{aligned} & \frac{-x}{(1-\gamma)} \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2} x^n}{[\gamma q; q]_n} = \frac{-x}{(1-\gamma)+} \frac{-xq}{1+} \\ & \quad \frac{(1-q)(\gamma + xq)}{(1-\gamma)+} \frac{-xq^3}{1+} \frac{(1-q^2)(\gamma + xq^2)}{(1-\gamma) + \dots} \end{aligned}$$

Taking $\gamma = -a$ and $x = -a/b$ in it we have

$$\begin{aligned} \frac{a/b}{(1+a)} \sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2} (a/b)^n}{[-aq; q]_n} &= \frac{a/b}{(1+a)+} \frac{aq/b}{1+} \\ \frac{(1-q)(-a-aq/b)}{(1+a)+} \frac{aq^3/b}{1+} \frac{(1-q^2)(-a-aq^2/b)}{(1+a)+\dots} \\ \sum_{n=0}^{\infty} \frac{(-)^n q^{n(n+1)/2} (a/b)^n}{(-aq; q)_n} &= \frac{1+a}{(1+a)+} \frac{aq/b}{1-} \\ \frac{a(1-q)(1+q/b)}{(1+a)+} \frac{aq^3/b}{1-} \frac{a(1-q^2)(1-q^2/b)}{(1+a)+\dots} \end{aligned}$$

Thus we have

$$\rho(a, b) = \frac{(1+a)(1+1/b)}{(1+a)+} \frac{aq/b}{1-} \frac{a(1-q)(1+q/b)}{(1+a)+} \frac{aq^3/b}{1-} \dots \quad (2.19)$$

$$= \frac{(1+a)(1+b)}{b(1+a)+} \frac{aq}{1-} \frac{a(1-q)(b+q)}{b(1+a)+} \frac{aq^3}{1-} \dots \quad (2.20)$$

$$\begin{aligned} \rho(1, 1) &= \frac{4}{2+} \frac{q}{1-} \frac{(1-q)(1+q)}{2+} \frac{q^3}{1-} \frac{1-q^4}{2+} \dots \\ &= \frac{4}{2+} \frac{q}{1-} \frac{1-q^2}{2+} \frac{q^3}{1-} \frac{1-q^4}{2+} \frac{q^5}{1-} \dots \end{aligned} \quad (2.21)$$

$$\rho(1, q) = \frac{2(1+q)}{2q+} \frac{q}{1-} \frac{2q(1-q)}{2q+} \frac{q^3}{1-} \frac{2q^2(1-q^2)}{2q+} \frac{q^5}{1-} \dots \quad (2.22)$$

$$\rho(q, q) = \frac{(1+q)^2}{q(1+q)+} \frac{q^2}{1-} \frac{2q^2(1-q)}{q(1+q)+} \frac{q^4}{1-} \frac{q^2(1-q^2)(1+q)}{q(1+q)+} \frac{q^6}{1-} \dots \quad (2.23)$$

$$\rho(q, 1) = \frac{2(1+q)}{(1+q)+} \frac{q^2}{1-} \frac{q(1-q^2)}{(1+q)+} \frac{q^4}{1-} \frac{q(1-q^4)}{(1+q)+} \frac{q^6}{1-} \dots \quad (2.24)$$

$$\rho(\omega, \omega) = \frac{\omega}{-1+} \frac{\omega q}{1-} \frac{\omega(1-q)(\omega+q)}{-1+} \frac{\omega q^3}{1-} \frac{\omega(1-q^2)(\omega+q^2)}{-1+} \frac{\omega q^5}{1-} \dots \quad (2.25)$$

3. Ramanujan's Second Theorem

If $\rho(a, b, c) = \rho(a, b, c; q)$

$$= \left(1 + \frac{1}{b}\right) \sum_{n=0}^{\infty} \frac{[c; q]_n (a/b)^n (-)^n q^{n(n+1)/2}}{[-aq; q]_n [-c/b; q]_{n+1}}$$

$$\begin{aligned} \rho(a, b, c) - \rho(a, b, c; q) \\ = \left(\frac{1}{b} - \frac{1}{a} \right) \frac{[c, aq/b, bq/a, q; q]_{\infty}}{[-c/a, -c/b, -aq, -bq; q]_{\infty}} \end{aligned} \quad (3.1)$$

Let us consider the following transformation [Gasper-Rahman 4; App. III 9,10]

$$\begin{aligned} {}_3\Phi_2 \left[\begin{matrix} a, b, c; q; de/abc \\ d, e \end{matrix} \right] &= \frac{[e/a, de/bc; q]_{\infty}}{[e, de/abc; q]_{\infty}} {}_3\Phi_2 \left[\begin{matrix} a, b, c; q; de/abc \\ d, e \end{matrix} \right] \\ &= \frac{[b, de/ab, de/bc; q]_{\infty}}{[d, e, de/abc; q]_{\infty}} {}_3\Phi_2 \left[\begin{matrix} d/b, e/b, de/abc; q; b \\ de/ab, de/bc \end{matrix} \right]. \end{aligned} \quad (3.2)$$

[Gasper-Rahman 4; App. III (9,10)]

Taking $a \rightarrow \infty, b = q$ and then replacing d by $-aq$ and e by $-cq/b$ in (3.2)

$$\begin{aligned} \rho(a, b, c; q) &= \left(1 + \frac{1}{b} \right) \sum_{n=0}^{\infty} \frac{(-)^n (c)_n q^{n(n+1)/2} (a/b)^n}{[-aq; q]_n [-c/b; q]_{n+1}} \\ &= \left(1 + \frac{1}{b} \right) \frac{[aq/b; q]_{\infty}}{[-c/b; q]_{\infty}} \sum_{n=0}^{\infty} \frac{[-a, -aq/c; q]_n (c/b)^n q^{n(n+1)/2}}{[q, -aq, aq/b; q]_n} \\ &= \left(1 + \frac{1}{b} \right) \frac{[q, aq/b; q]_{\infty}}{[-aq, -c/b; q]_{\infty}} \sum_{n=0}^{\infty} \frac{[-a, -c/b; q]_n q^n}{[q, aq/b; q]_n}. \end{aligned} \quad (3.3)$$

For $a=1$ we have

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{[b, c; q]_n \left(\frac{de}{bc} \right)^n}{[dq, e; q]_n} &= \frac{1}{1 - \frac{\frac{de}{bc}(1-d)(1-b)(1-c)/(1-e)(1-d)(1-dq)}{(1-e/q)/(1-e)+}} \\ &\quad \frac{\frac{e}{q}(1-q)(1-dq/b)(1-dq/c)/(1-e)(1-dq)(1-dq^2)}{1 - \frac{\frac{deq}{bc}(1-dq)(1-bq)(1-cq)/(1-eq)(1-dq^2)(1-dq^3)}{(1-e/q)/(1-eq)+}} \\ &\quad \frac{\frac{e}{q}(1-q^2)(1-dq^2/b)(1-dq^2/c)/(1-eq)(1-dq^3)(1-dq^4)}{1 - \frac{\frac{deq}{bc}(1-dq)(1-bq)(1-cq)/(1-eq)(1-dq^2)(1-dq^3)}{(1-e/q)/(1-eq)+}} \end{aligned}$$

$$\frac{\frac{deq^2}{bc}(1-dq^2)(1-bq^2)(1-cq^2)/(1-eq^2)(1-dq^4)(1-dq^5)}{(1-e/q)/(1-eq^2)+\dots} \quad (3.4)$$

$$= \frac{1}{1-} \frac{\frac{de}{bc}(1-d)(1-b)(1-c)/(1-d)(1-dq)}{(1-e/q)+}$$

$$\frac{\frac{e}{q}(1-q)(1-dq/b)(1-dq/c)/(1-dq)(1-dq^2)}{1-}$$

$$\frac{\frac{deq}{bc}(1-dq)(1-bq)(1-cq)/(1-dq^2)(1-dq^3)}{(1-e/q)+}$$

$$\frac{\frac{e}{q}(1-q^2)(1-dq^2/b)(1-dq^2/c)/(1-dq^3)(1-dq^4)}{1-}$$

$$\frac{\frac{deq^2}{bc}(1-dq^2)(1-bq^2)(1-cq^2)/(1-dq^4)(1-dq^5)}{(1-e/q)+\dots} \quad (3.5)$$

As $b \rightarrow \infty$

$$\sum_{n=0}^{\infty} \frac{[c; q]_n (-)^n q^{n(n-1)/2} (de/c)^n}{[dq, e; q]_n} = \frac{1}{1+} \frac{\frac{de}{c}(1-d)(1-e)/(1-d)(1-dq)}{(1-e/q)+}$$

$$\frac{\frac{e}{q}(1-q)(1-dq/c)/(1-dq)(1-dq^2)}{1+}$$

$$\frac{\frac{deq^2}{c}(1-dq)(1-eq)/(1-dq^2)(1-dq^3)}{(1-e/q)+}$$

$$\frac{\frac{e}{q}(1-q^2)(1-dq^2/c)/(1-dq^3)(1-dq^4)}{1+}$$

$$\frac{\frac{deq^4}{c}(1-dq^2)(1-eq^2)/(1-dq^4)(1-dq^5)}{(1-e/q)+\dots} \quad (3.6)$$

Taking $d=-a$, $e=-cq/b$ in it we get

$$\begin{aligned}
\sum_{n=0}^{\infty} \frac{[c; q]_n (-)^n q^{n(n+1)/2} (a/b)^n}{[-aq, -qc/b; q]_n} &= \frac{(1 + c/b)}{(1 + 1/b)} \rho(a, b, c; q) \\
&= \frac{1}{1+} \frac{\frac{aq}{b} (1+a)(1-c)/(1+a)(1+aq)}{(1 + c/b) -} \\
&\quad \frac{\frac{c}{b} (1-q)(1+aq/c)/(1+aq)(1+aq^2)}{1-} \\
&\quad \frac{\frac{aq^3}{b} (1+aq)(1-cq)/(1+aq^2)(1+aq^3)}{(1 + c/b) -} \\
&\quad \frac{\frac{c}{b} (1-q^2)(1+aq^2/c)/(1+aq^3)(1+aq^4)}{1-} \\
&\quad \frac{\frac{aq^5}{b} (1+aq^2)(1-cq^2)/(1+aq^4)(1+aq^5)}{(1 + c/b) - \dots} \tag{3.7}
\end{aligned}$$

A number of interesting identities can also be scored.

Acknowledgement

The first author is thankful to University Grants Commission, New Delhi for sanctioning the minor research project no F. No. 8-3 (115)/2011(MRP/NRCB) under which this work has been done.

References

- [1] Agarwal, R.P., Resonance of Ramanujan's Mathematics, vol III, New Age International (P) limited, New Delhi (1996).
- [2] Bailey, W.N., Identities of Rogers-Ramanujan type, Proc. London Math. Soc. (2), 50, (1949), 1-10.
- [3] Denis, R.Y., Certain summation of q -series and identities of Rogers-Ramanujan type, J. Math. Phy. Sci., Vol. 22, No. 1(1988).

- [4] Gasper, G. and Rahman, M., Basic Hypergeometric Series, Cambridge University Press (1991).
- [5] Ramanujan, S., The lost Notebook and other unpublished papers, Narosa, New Delhi, 1988.
- [6] Rogers, L.J. and Ramanujan, S., Proof of certain identities in combinatory analysis, Proc. Camb. Phil. Soc. 19 (1919), 211-216.
- [7] Slater, L.J., Further identities of Rogers-Ramanujan type, Proc. London Math. Soc. (2), 54, (1952), 147-167.
- [8] Singh, V.N., The basic analogues of identities of Cayley-Orr type, J. London Math. Soc. 34 (1959), 15-22.
- [9] Verma, A., On identities of Roger-Ramanujan type, J. Pure appl. Math., 11(6), (1980), 770-790.